EE. 4 A T — DHHE (Euler’s criterion)
SLALOFEMp LEED cZ0 (mod p)il DT

(;) =c"7  (mod D).

FEER. Va,c € X ={1,2,...,p— 1},
ab=ba=c (modp)

EHITbe XWR12FE (f32BHFENS).
ZDESMANT CHER DY DL TE (a1, br), (a2, b2), - - ., (ar, br)
LET (NHRD T < b 2RE). T2bb,
Vi, a;, b € X 2D a;b; = ¢ (mod p)
i#j=ai#a; (T5HEHEBENT b # b 1D a; # bj)
{a1,.. ., ap, by, ... by} = X.
Ha; # b YEBMICHRYIIOEE: T # 4, a; = b BSF aib; =
bibi=c L7RDND, abj=ba=ckHRET aD—FEHLY b =a;
THLa<b=a;<b =0V a=a &2YFHE
o cMpeihe L CEHIERIRTHL L X
Vi, a; £ b; 72 DT, ar,. .. apbi,. .. bl $ R THER 5.
EoTIh b OFIC X ORBEN TE—ET > HIH.
ZoZenbk=|X|/2=(p-1)/2. ¥/, aib; = c DML
Zi=1,2,..  KICOWTHEE L5 E, 50T ab; - apby =
(p— 1), HDF F2DT, FER(p—1)=c7.
o cMpEHIKEEL TEAREARTHDLL &
(x) Dz a (€ X), —a (=Ep—a) &T 5.
a?—a PEFARLDTCal p— o DETIERD).
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—fEE LD Z e a(=b) =, as(=by) =p — .
RN LIMCEFEL RO S Vi =34, ...k, a; # b;.
&5 Tay,a,as,...,a1,b3,b4...,b DFIT X OZEENT
R O .

PoT2% —2= X0 k= (X|+2)/2=(p+1)/2
ajas = a(p — a) = a(—a) = —a? = —¢ (mod p).
TH5HM, ZORIT aib; = ¢ (mod p) &i = 3,4,...,kIC

ML ThThHbese, i
(a1az)(agbs - - - arby) = (p — 1)1,
FilF —c- 2= . koT

(p—1)!=—c"= (mod p). (%x)
c=17261F (%) TR L1 2RO, (++)ITRAL T
(p—1!=-1 (mod p). 0
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